SRR ol RE

BRE 1. EHEIZU7 > TIROBEB OB Z KD X.

(Hy=2
flx)=2&86XK.
o faAm—f@) . 2-2
f(x)—}};mo h = h = pm 0=
2y=a
flx) =2 &&BX.
oy o fla+h)=flx) . (x+h)—xz . h
A N Y
h#0&D, h THOITEEHDT
= lim 1=1.
h— 0
(3) y =a?
flx)y=2>&BLE f(x+h)=(x+h)? 7205
et h) = J@) R

N L
fla) = hh—>m0 h h— 0 h - hh—>m0

h#0&D, h THOITEEHDT
= lim (22 + h) = 2=z.
h— 0

4 y=2",(n=1,2,--+)
flx)y=a" &BL &,
flx+h)— f(x) . (x+h)" —2z"

/ _ : —
(@) = lim h = Jim,

TIEEHIZ LD
(2™ + na"th + ,Coz™ 2h? + - - - + h") — 2"

= lim

h—0 h
o onx" 'h+,Cx" 2h2 4 - + A"
= lim
h—0 h

h#0&0D, h THRTHIENTEEHDT
= lim(nz""" + [ R 1ZDWT 1R RO
h—0

)

= na™ !

2xh + h?




(B5)y=+vx
fla) = Ve eBLE flr+h) = Va+h s
fi@) = i LEEW = F@) oy, SR yE

h— 0 h h— 0 h

o VAR DI+ V)
h— 0 h(Vr+h+4/2)
AKX (a+b)(a—b)=a*—b* Zffio>T

= lim (z+h)—e
= 0h (Vo + b+ 7T)
) h
= lim
h=0h (Vo +h++/x)
h#£0& D, h TR TEIENTEEDT

1 1
= lim = .
0T+ h+ o 2V

(6)y:i @é:%,f(x):% LH< e
1
x+h’

B

8

ZIT flath)= — flx) =

Xz

1
lim1 L1 —liml ‘ _ et = lim 1_=h
wsoh\xz+h x) nmsoh\x(x+h) xz(xt+h)) h>ohx(z+h)
h#0 2L TEWwhs h TRATET
—1 —1

- lim — =
P z(x+h) 22

B 2 OBEKOEEHZEHEE &,
(1) y = 2z — 322
v = 2z — 32?) = 2(z) — 3(2?) =2 — 6z

(2)y=a%—222+52+6
y = (23— 222 + 52+ 6) = (23) — 2(2?) +5(x) + (6) = 32> —4x +5

(B y=3vr——



y’z(3\/_—%)/:3(\/5)’—2(%>':%+\/%

1 1
Hy=at+z—1-—>— —
d)y=z*+z i

o1y IR I

_ 2 _ 2
1 2
:21’—1-14—;4‘;
1 3
5 :—:x_E
Bv="T75
y/:—§gj_%
2

_Vr—e Ve @ 11
(6)y— = = = \/F_x \/E—x T
P —2_'_1 —%
Yy =—x 2x

x
(M y=—"
;@ @-1)-2@-1)" -1
. (@17 IRCEE
B 4. (1) y= 2=/ ARz =2+ 1 THB, y 12

ZRATHIEE W,

B I I S
(2) y—2x+172—y @mﬁ@ﬁﬂiz-2$+l ThH o,
(3) y:é,z:2y+1 @é‘)ﬁ?ﬁ@i&ﬂiz:gJﬂ Th B, (2) BT L,

(4) y=+x, 2=2y+1 DERBERL 2z =22 +1 TH 5, (1) LigE k.

MEES5. (1) By =Qe+ 1) ik 20 +1=t B OBt =20+1,¢
DRy = t* DA TH 2,

(2) Bfly=va2+ 1%, 22 +1=t B v DRt =22+ 1, t DB
y =t DEHRERTH 5,



BRE 6. IROBEBROEREK % EEE L.
My=2r-1D)" D& t=20-1%15L.
By = 20— DO I y =t t =22 -1 ODEBBEKTH 5.
@_i 10y __ 9 ﬁ_i _ _
dt-—(ﬁ(t ) =10t = dx(zx 1) =2
72026 B BB DOMAIEIZ XD
dy _ dydt
dr  dt dx

=10t" x 2 =20(2z — 1)°

1 . B
(2)y:2x_1 DeE, t=20—-1&BL.y=

20 — 1

DEHE L 25,

dy d (1 1 dt d

W_2(2yo2 L_ Lo 1)=2

at  dt (t) 7odr a2l
2o GBI DM IRIZ &Y

by 1,

de — dtde 12 - (2r—1)2
Tho.

E720F EOWAIEIZLD
1\ (1)Yx(2r-1)—1x(2z-1)
2r—1) (22 —1)2
0x(2z—-1)—1x2 =2

(2z —1)? (2 —1)%

B)y=V2e—10rE t=2—1&8. By =v2r—1 IFEK
y=+Vtt=22—-1DHEKEBTH 5.
dt  d

—=—2x—-1)=2

dx dx(x )

Thh 7~
dy d /1 1, 1 1
_— = — t2 :—t2 _—t2:—‘
dt dt( ) 2 2 21

TH5. 0o ARBEBOMDIEITELD
dy dydt 1 1

de  dtdr 2/t V2r —1
LiRb.




@Dy=2*+222+1 DL E,
y = (2% + 227 + 1) = (2°) +2(2*) + (1) = 32° + 4a.

Gly=(2*+222 + 1) DL E t =23 +222+1 &£ BKL.
FAE y = (23 + 222 + 18 3B y =8, t =23 + 222 + 1 DEREKTH 5.

dt d , 3 2 2 dy d g 7
- dm(x—l—:z:—l—) 3x° + 4z = dt(t) 8t
720 6 B BB DA BT LD
d dy dt
% = d_?i@ = 817 x (322 + 4z) = 8(32% + 4z)(2® + 222 + 1)7
1
6)y=— D&
x
—1
Z//Zﬁ
1
= D& =z 2 EHL.
(7 y PN Y S,t=a422"+1 <
w 1 " 1 N
By = ————— Iy =t =23+ 222+ 1 ODGHBEKTH 5.
a3+ 222 +1 t
dt _ d 3 2 _ 2 dy . d -1\ __ =)
Thd. 206G HREBOMSIECELD
dy dydt 9 5 —(32% 4 4x)
S %Iy dy) =
dr " ardn )BT ) = e ey
Th5.

E72F EOWMIEIZELD
( 1 )/_(1)’><(x3+2x2+1)—1><(x3—|—2x2—|—1)’

3 4222 + 1 (23 + 222 4+ 1)?
C0x(2®4+22°+1)—1x (32° +4z)  —(32° +4x)
B (3 + 222 +1)2 (23 222 + 1)
1 3 2 3
8)y = DE&St=a"4+22"+1 &BK.

(3 + 222 +1)8

v 1
Ry = (23 + 222+ 1)8

Ry = tlff t=2+222+1 ODEKEKTH 3.



it d, . ) dy d, »
& _ e 222+ 1) = 4y HY_ L —_
o= o @2t A ) =3 e o dt(t ) = —8t

TH5. Zh o GHBEBOMAIEIZEY

dy dydt 9 5 —8(32? + 4x)

YW _WE_ (g 322 + 4x) =

de  dtdx ( ) x (37 + da) (3 + 222 +1)°

THb.

(9) VI =27 Eh5REEBOMAEIZ LD

ro1 1

(10) y = Va3 +2224+1 D& &t = 23+ 222 +1 &L, BBy =
Vo3 +222 + 1T IEBBly =V, t =2+ 222 + 1 OERBEHTH 5.

at d
= — (@ +22* +1) =32 + 4z

de ~ dx
THOER (9) 1LY

dy _ 1

dt 2/t
TH5. 20 B BEBOMAECLD

dy dydt 1 9 32% +4x

_ = — = - 4 =

dv dtdr 2/t x (32" +4z) 23 + 222 + 1
5.

1 !

11) —= =272 EhroRNEEBMOMDEIC
<)¢E T M oNEZEBOMBIEIZLD

—1 1 3 1

1Y\’ 1\’ 1
y/ = B — = <x_§> = ——x_§ = —— 2 = — .
\/E 2 2 2V 3

(12) y = 1 DEE t=a3+202+1 28L&, By =
3+ 222+ 1
L M%ﬁy:int:ﬁ+zﬁ+1®é&%ﬁﬁ%6

Va3 +2x2+1 Vi

dt d o 9 9

— = 202 4+ 1) = 4

= dx(:c—i-x—l—)?)x—l—x
THY, £ (11) £
dy -1

At~ 243



TH5. Zh o GHBEBOMAIEZEY

d dy dt —1 — (322 +4
_y:_y_: §><(3ZL'2—|-4ZL‘): ($+$)§
de dtdr 92t 2(23 + 222 4+ 1)2

L5,




